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1. Determine a Big O estimate of the running time of each of the following code fragments.  In each case, assume that the integer identifier N is proportional to the problem size:

for Count in 1..N loop

   -- some code without any loops

end loop;

for Count in reverse 1..N loop

   -- some code without any loops

end loop;

Big O  _____________________

Count := N;

loop

   exit when Count <= 0;

   -- some code without any loops

   Count := Count - 2;

end loop;

Big O  _____________________

Count := 1;

loop

   exit when Count >= N;

   Index := Count;

   loop

      exit when Index <= 0;

      -- some code without any loops

      Index := Index / 17;

   end loop;

   Count :=  Count + 1;

end loop;

Big O  _____________________

for Index in 1..N loop

   -- some code without any loops

end loop;

Count := 1;

loop

   exit when Count >= N;

   -- some code without any loops

   Count := 2 * Count;

end loop;

Big O  _____________________

for Count in 1..500_000 loop

   -- some code without any loops

end loop;

Big O  _____________________

Count := 1;

loop

   exit when Count >= N;

    for Index in 1..Count loop

      -- some code without any loops

   end loop;

   Count :=  Count + 1;

end loop;

Big O  _____________________

Count := 1;

loop

   exit when Count >= N;

   -- some code without any loops

   Count := 13 * Count;

end loop;

Big O  _____________________

